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Define operating system. Explffi$ferent views of operating system. (08 Marks)
What are virtual machines?ffiffi{n VM-WARE architec$urr$i with neat diagram. (08 Marks)
Explain process managem€nt activities *}* ' (04 Marks)

fl!1

With neat diagranr,qx,fllain different states of a pgocess. (05 Marks)
Discuss schedgliqff" iteria used in operatigg
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Discuss schedgl-ig,$*.diteria used in operati*tt**,ystem. (0s Marks)
For the follo..1viirg;eiample calculate ave$,gppvaiting time and average turnaround time using
FCFS, pre*giihp,iive SJF, and RRI1 time dfli.t] CPU scheduling algorithms.
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- d ..ffi3 a. What is critical sgqtion problem? Explprn-seflnaphore sohtrt& critical section problem.
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a. What is critical"E$i.tlqn problem? Expfiia-seffnaphore solutbdlo- critical section problem.
d s :} :::!::::: l

b. Describe the fui6nitor solution to tffi#Sical dining philosopher problem. (08 Marks)

c. Define rgce eondition. Explain-qgd&s writer problemryith semaphore in detail. (05 Marks)
- \\n :::;r":!q#h _r*" '.:,--
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-&#" 1 -a. Whafi$ deadlock? Wh#hffi necessary cop$iti6ns on operating system must satisff for a

deadbck to occur? d u** "a, r (06 Marks)
&s

b.,=:::$br the following qnqp$dt find the safe'*eErdnce using Banker's algorithm.

t.

D Is the systen'ligl,'safe state?

i, If a reque,Stftdm process Pz arrives for (0, 0,2) canthe request be

How is yt+n iecovered from deadlock?

Process
Allocation Max Available
A.
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B C A B C A B C

Pow 0 2 0 0 4 I 0 2

PrJ I 0 0 2 0 I
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5 a. what are translation look aside buffer (TLB)? Wpffifuffin detail with a simple paging system

--.:+L ^ -o^i r{ionram -Y 
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(08 Marks)
with a neat diagram. d"* e - 

(08 Marks)

b. Given ttre memory partitions of 100k, 500h *pffi, 300k and.6o!r epp]y first fit and best fit

algorithm to place itzt, 4t7k,112k, 4"6*@6itlt^tj.lt:P:!lt1!Y;"";Y*" 
- ^ *^Sly::L?

,rJ yqulrvue v^ rvvrat E:- w-,

algorithm to place itZt, 417k,112k, 4?q*ffic.lt^tj.lt:pectively- ,iryr$^ (04 Marks)

c. Consider the followin gpagerlphcemsffig 107102i2303240SM0? for a memory with

3 &ames. tto* *ny"ffi faults qep"i%. rRu anO FIFO pagp replacement algorithms?

rrrr^:^L :^ +L^ ^fri^;an+ affi^no h.rth?@ii@. 
* (08Marks)

Which is the effrcient among botffieJ
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6 a. Explain how free space is mamg;d. * (04 Marks)

b. expUin the different filgeo@s$ methods- -*;" 
(06 Marks)

c. What is a file? Explarp fui@ent allocation methodsi o (10 Marks)

$*"d aod*"d , d*

7 a. Describe the aec6! *natrix model used fonptect
b. Suppose the posilidn of cylinder is at 5&.$he dir

1oo The .d,'rAtq; nf naradins reouest in FIFO or

a. Describe tt e ueffi,ffiatrix model used fop#t"gl,ln.purpose. (08 Marks)

u. Suppose tr,qp{sflion or cyrinAer is at sffi&. disk drive Pt :*h1:tt.11r"?:.:11"} 
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i;ffi;&ffi,f-,h. #;;;t6; posrtiort what is the total distance travelled (in cvlinderO bY

6;di$ih-;;*1t'ilih; ;.$ugl.Susing algorithm ffifuFCFS ii) ssrF iii) SCDN and
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